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. The tapered member is fixed connected at its end¥’4 and B and is subjected to a load P

at x = 30 in. Determine the reactions at the supports. The member is 2 in. thick. (25%)

The beam is sub_;ected to the uniformly distributed moment m (moment/length) Draw
the shear and moment diagrams for the beam (25%)

. The beam is subjected to a load P at its end. Determine the diaplacement at C. (£1 1s

constant) (25%)

. The shaft has a radius r and is subjected to the following loadings:} an axial load, P, a

bending load, V' = 3P, and a torque, 7'= Pr/4. 'The length of the shaft L is ten times
the radius, i.e., L = [0r. Determine the maximum tensile stress and the maximum
shear stress that is developed anywhere on the surface of the shaft. Please show your
final results in terms of P and ». In addition, show the corresponding location on the
shaft for these stresses with a sketch of properly oriented elements in reference to the
axial direction of the shaft. (25%)




